(5x — 6)(4x + 3) = H7R3F A2

D 20x% +2x-18 @ 20x® +4x-18
® 20x2 4+ 6x—18 @ 20x2-9x+ 18

B 20x2 - 9x — 18



2.

T(x+a)? + (
7} A=

@D -928



3.

(2x =3y + 2)(x + 3y — 2) & A2 xy O] A7

D =6 ® -3 3 0 @ 2



4. 2+ (V5+ VT)x + V35 B QISEashH?

@ (x- VB)(x— V7) @ (x- VB)(x+ V7)
® (x4 V35)(x-1) @ (x+ V5)(x+ V7)

® (x- V35)(x+1)



5. Ax?—day— 1052 =(3x + By)(2x +2y) & W, AB ©] gL Fotelat,

Ld g:aB=



© da?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

@ 4ab-1= (2a+1)(2b—-1)

© 00 CRONE
ONORENC) ® A, 0.6

ONGNC)




Al x2 —4x+3 3 2x2 —3x -9 9] FEI

&

5o

® x+3

@ 2x-3

@D x-1

@ 2x+3



ohg 9o BE AAZY )
ole] @} Wolsk 22 At
g o] 7hzo] Zo|ot A2
ol o] A5 atelet (¢, 2

Jo]of A 2}2 ol Wit

NN

e
=%

~

L= s

1 1
)

1 1
)

1 1
)



9.  (x+2)2-(x-1)(x+2) & 7ste] Ihhs] ehfH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



e

10. (2x-1)° - (x+2)* < Q5B (3x + a) (x + b) 7} Dk FHeh,
™

1
ol W, a-b°] = F5HH?

D -1 @ 3 ® 0 @ 2 ® 4



vl

[e]

FII‘

ol
o] 157} 9 4 91
2 2—4—2)cy—/] 2

11. < +y

-2
® x+y
@ x-y-4

-2

® x-y

4 ® x+y+2
@ x-y+



12.

e F &4 g2 AL

flo

@ (x+5)(x-5)=x2-25
@ (-4+x)(-4-x)=16-x2
® (-a+3)(-a=3)=-a>+9

@ (—x-2y)(x—2y) = —x% + 4

1 1 ) 1
® (y+1)(v-1)=r-=






14. S oA 2 —ax—15, 2x2-9x + b 9] &
at b © 32 Fofoler,

B Eatb=






16. 3 - Ax—57bx—5 2 Uiro] Wojd o, 4 o] Zh& Fafodal,

Re:a=



17.

oA A% < ol <]

AR R

Hm

Sfst=dl, Mo x o AFE

(x+1) (x-10) o= IR alistRal, Ydol= doda d5 B
(x+3) (x—6) 22 AgEaetAct. Fol7 o] ZAS Hi2 A Q14HH
sfshH?

@ (x=5)(x+2) @ (x-3)(x+6)

® (x+5)(x-2) @ (x-1)(x+10)

® (x-5)(x-2)



18. o3 H7] F xy(2x +3y) —xy(x +y) & QI4E BF 1 E HL29

H7]
@ xy © x+y ©® x+2y
® 2x+3y © x(x+2y) ® y(x+y)
® ©,6 ® 0,0,0 ® 0,06
@ ©,®,0 ® ©, O,




19. thE Aol FRAFAL W, 44 a 9|

(x4+2)(x+4)(x+5)(x+T7)+a




20. x+a=2 x—a=79 ", x®-a®+ax?-a*x =7

D 14 ® 20 B 24 @ 928 B 32



21, x*—10x2 +99] A7} opd 222

® x-1 @ x+3 @ x?-1

@ x+9 ® xt-10x24+9



22, -y +6x-2y+8 2 AFEAMNIH (ax+by+c)(x+y+4) & i,
a+b+c 9 g& okt

a%*fa+b+c:



101

23. (3-2v2)" (3+2v2)" & Ateteler,

S EER
=¥



IR
V3+V2 T VB- V2

24. x= A, 2 (x+y) o] g F5HE?

@ V6 @ 246 ® 443 @ 66 ® 86



')
olth
J A~

= 8T

1

C

B,

A,

7(d,






27. ax’+24x+b = (3x+c)? W, &5 a, b, ¢ O] 2 A= F5HH?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @ a=9,b=16,c=4

® a=3,b=-8, c=4



@ 3x2-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x- D)

B

D EE



29. o} 193} o] 48cm ¢l

TR Het e |
ZZy gem 9F bem Q1 AALSE = /& WEQIL o] W, &
o] gole] gto] 74cm? ¢ A a

2w, Holo] A48 atelet. (B

& A9l

_--48cm- -

-~

acm bem

cm



30.

(x-2)x>-3(x-2)x-10(x-2) & AFEl5tH?
@ (x-2)(x=5)(x+2) @ (x-2)(x+5)(x+2)
® (x=2)(x-5)(x+3) @D (x-2)(x+5)(x-2)
® (x-2)(x+5)(x=13)



31. xy=3,x2+y?=6<¢ ™, x*+y3 9 @27 (F x+y>0)

D 23 @ 43 3 63 @ 83 ® 10V3



32. x3+3x? +3x+5 = (x
o, f(x) o A+S2 9

e =
-

+2) 2 R Fo] f(x) ol Y7} 3 2
1 atolel



33. X2—x-7T=0¢, (x+1)(x=-2)(x+2)(x=3)(x+3)(x—4) 9] =
Fsfolar,

B
=¥



34. (4+2)(42 +22)(4* +2%)(4® + 28) - 231 4 215 & 7+As] Sholat,

>R
=%



35. x2-8x+1=0< of, 242 + 3 2 ~ +4 9 Fg ot

5 e
c



